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SN AT
ma: aagl ZE 23
e agisd @ Y (ersl: &)
A BB OS(B) - NEAY - BAS sy e RS2
Ol &
& 37,050
202 O4H| 4,450 4,450 0
01 =LA bI 4,450 4,450 0
Ox=dtE2 73 882 Nk 4,450
308 XX HHSO0IA 49,100 49,100 0
= 16,500
& 32,600
01 AXNHMBLEEXS 21,600 21,600 0
Oz E 5 K& 21,600
06 WEI|I20HSEExZ 27,500 27,500 0
OXrg =40t ZAalHl XI& 55,000,000 *50% 27,500
= 16,500
& 11,000
FAEINSRSAMEX S (XHA) 237,000 142,000 95,000
403 KX M SK=01H 237,000 142,000 95,000
01 MXESHMA=2E R 237,000 142,000 95,000
OMSH E=EHI 25,000
OltEZ M2MEAE K& 90,000
OEXZEM XA 10,000
otu=sH2I &l 62,000
O=x=01d =2H A& K& 50,000
SOME NS o FYH 7,000 4,400 2,600
201 LBt A 4,000 2,000 2,000
03 A2 4,000 2,000 2,000
OxtEM 8ol = 22 4,000
203 HRF&H| 3,000 2,400 600
03 AIBMFXHRFEH| 3,000 2,400 600
O%AEor AIET 3,000
=NME AHIFE X 105,000 90,000 15,000
308 AXIHHMSOIA 105,000 90,000 15,000
01 IXNSMBLNEES 105,000 90,000 15,000
Ozxdt=2 AHIEA X 90,000
OZ3uXe =R X& 15,000
Hgelwssad W d|=X& 411,000 0 411,000
= 411,000
308 XX HHSO0IA 411,000 0 411,000
= 411,000
06 WEI|I20SExZ 411,000 0 411,000
O HDNES SRR 411,000
= 411,000
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SN EE - SR(EN) - NRAY - BaS sl e HlRE2
g 23, 22 6,547,383 5,948,402 598,981

= 5,805,000
= 742,383
Ao 2H 4,800,000 4,800,000 0
= 4,800,000
201 LetEI| 40,000 0 40,000
= 40,000
01 AtS 22/l 40,000 0 40,000
O2ded 2382 40,000
= 40,000
301 Et2A = 4,550,000 0 4,550,000
= 4,550,000
12 JIEtE2 4= 4,550,000 0 4,550,000
o2 ZHXA 4,550,000
= 4,550,000
308 XX HHSOIA 210,000 4,800,000 24,590,000
= 210,000
01 XML EXS 210,000 4,800,000 24,590,000
O2aid H&Xeldl 210,000
= 210,000
gt AE2elEsH N 1,273,000 831,910 441,090
= 1,000,000
= 273,000
403 AXISHHSK=201H 1,273,000 819,910 453,090
2 1,000,000
= 273,000
01 XM= E X 1,273,000 819,910 453,090
OOANAT BTSN e
2,000, 000,000 *62% 1,240,000
2 1,000,000
& 240,000
OoflItel MXI2 33,000
X 166,000 0 166,000
308 XX HHSOIA 166,000 0 166,000
01 MXEHINELS 166,000 0 166,000
O&& Mol2Eg =z XN& 166,000
HeEXEed 29 300,883 301,492 A609
201 L2y 216,583 204,692 1,891
01 AtE222/Hl 28,700 17,300 11,400
OHEXNEH2S 28,700
02 2323l 187,883 187,392 491
OZ232= ¥ HAl 31,614
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O& et =Xl 156,269

202 O4Hl 21,800 21,800 0

01 =W 5,000 5,000 0
OOZNE Y LMY X 5,000

02 M 16,800 16,800 0
OGRS 16,800

401 AI&HIL S| 55,000 70,000 ~15,000

01 Al&H| 55,000 70,000 A 15,000
OOENEH FIl+2ll 55,000

405 KH&HFESHI 7,500 5,000 2,500

01 T =SS HSHI 7,500 5,000 2,500
OGPSZ ZELF 7,500

X HAZ e 7,500 15,000 A7,500
= 5,000
= 2,500

308 AXEHHSOIH 7,500 15,000 AT,500
= 5,000
L= 2,500

01 HXSMBLExZ 7,500 15,000 27,500
2 X H & A 2 10,000,000 *75% 7,500
= 5,000
& 2,500

=M B .54 10,829,490 9,662,045 1,167,445
= 1,547,000
= 5,184,000
& 3,468,490
2 630,000

SRS E I 812,000 569,220 242,780
& 512,000
2 300,000

308 NXIHHSOIH 212,000 129,320 82,680

01 HXEMBLEXS 212,000 129,320 82,680
OgaE A=H 22 45,000
O ZSEHSE UK 122,000
O ZHFAMB 45,000

403 XXIEHSA=01d 600,000 439,900 160, 100
< 300,000
2 300,000

01 RXESHMA2E = 200,000 439,900 A 239,900
O2JtAtel 2HAS 40,000
OYAOE AN 160,000

02 BII2SHHSCHA AL I 400,000 0 400,000
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SN AN
Mo e M 23
SRl SR BES . SY ched A
B . M. CHe (5 NEAY . B2 Al OH HHE Hl =2+
S EEEE P ENEETCEEE 400,000
= 100,000
£ 300,000
W3 J|BtE 4y 250,000 510,000 A 260,000
403 XX SHHSA=201H 250,000 510,000 A 260,000
01 XXIEMAE2E X 250,000 510,000 A 260,000
Ol == MEHH WSHSEXIALS 90,000
OU=H2A Al S 60,000
Oz =&AL 100,000
OHHAFAIDIBI RS ,095,000 820,000 275,000
403 KX M SA=201H ,095,000 820,000 275,000
01 MXESHMA=2E R ,095,000 820,000 275,000
O LA ANESHUE 500,000
OHINHEZHX =S 260,000
OWS (X S)SHIALXA 100,000
O2AE JIBtAIE X 200,000
OHETLZ AL 15,000
Ot NEEAE 20,000
AIZHE=AIA 3,717,500 4,192,500 A475,000
= 2,950,000
& 437,500
£ 330,000
308 AUXIHMSOIA 417,500 442,500 A25,000
= 310,000
& 107,500
08 JIEtRE =3 417,500 442,500 A25,000
o= &2tel 125,000
= 100,000
& 25,000
OBSHZ=E XA 30,000
Odl=sgxd 262,500
& 210,000
& 52,500
401 AIEHIZ 2 3,300,000 3,750,000 A 450,000
= 2,640,000
& 330,000
£ 330,000
01 Al&HI ,288, 120 3,737,250 A449,130
OQIBHZAIEAS 3,288,120
= 2,630,496
= 328,812
2 328,812
03 A& 0HdI 11,880 12,750 AB70
OQIBHZAIEAS 11,880
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S EHH .S (BH) - HRAIY - B2 0 AF oA e HDZS2
2 9,504
= 1,188
g 1,188
AR HIOSE LAY X 1,950,000 750,000 1,200,000
= 1,500,000
= 450,000
403 XX SHHS =0l H 1,950,000 750,000 1,200,000
=2 1,500,000
= 450,000
01 MXISAA2E = 1,950,000 750,000 1,200,000
OARDHISHESAY
3,000,000, 000! *65% 1,950,000
= 1,500,000
= 450,000
ANTHEE S DB 10,000 0 10,000
= 10,000
403 XX SHS K20l A 10,000 0 10,000
= 10,000
01 MXISHA2E = 10,000 0 10,000
OF4pAE s A 22 20,000, 0002 *50% 10,000
= 10,000
TPS:EESE 26,400 211,200 184,800
= 24,000
= 2,400
403 TXISHSIH20lH 26,400 211,200 A 184,800
= 24,000
= 2,400
01 RXISAIR2E = 26,400 211,200 184,800
OU+p0l T ARE AR 30,000, 0002 *88% 26,400
= 24,000
= 2,400
AMEQBIAY 2,384,965 2,038,500 346, 465
2 1,684,000
= 700,965
206 2| 40,000 45,000 A5,000
01 W2t 40,000 45,000 A5,000
OFNERYE 40,000
403 TXISHSIH20lH 2,344,965 1,993,500 351,465
2 1,684,000
= 660, 965
01 MXIESHA2E S 2,223,465 1,872,000 351,465
OFMETHYYE 2,262,900, 0002 *B5% 1,923,465
2 1,584,000
= 339,465
OFMZEQUBA (RHH) 100,000
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A& a9(3) - MRAY - BE2 = i bl m &2
S EETET: 200,000
02 BIIBSOCHE 121,500 121,500 0
OZRYSEL 121,500
2 100,000
< 21,500
galof e 570,625 570,625 0
z 550,000
= 20,625
308 XHXlEHAISOIH 570,625 570,625 0
2 550,000
= 20,625
01 RHXESHBAEE 570,625 570,625 0
OLANE H3l 687,500, 0002! *83% 570,625
2 550,000
= 20,625
BB PLSN 2 13,000 0 13,000
= 13,000
403 X+XI A S H 0l 13,000 0 13,000
= 13,000
01 MXSHHA=LE 13,000 0 13,000
0OnYE =2H 65,000, 0002 *20% 13,000
= 13,000
= 08 M 16,389,000 12,723,000 3,666,000
= 24,000
z 11,050,000
< 5,315,000
EICRSRIETBIFEPY 195,000 260,000 65,000
z 150,000
= 45,000
403 X+XISHHI S KH2 0| 195,000 260,000 65,000
2 150,000
= 45,000
01 MXSHA=LE 195,000 260,000 65,000
OAB0M 212D
300,000, 0002 *65% 195,000
z 150,000
= 45,000
2OIg A 13,550,000 10,882,500 2,667,500
2 9,600,000
= 3,950,000
401 NEHIL20H] 13,300,000 10,082,500 3,217,500
= 9,600,000
= 3,700,000
01 Al&H 13,261,000 10,052,734 3,208,266
OXlgoig I H g 300,000
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M- B2 - S2(3H) - MZAY - BaS o e timE=El
oxgogad 12,000,000,000& *99.75% 11,970,000
= 9,576,000
< 2,394,000
OXLoiEA (XHA) 991,000
03 Al R04Hl 39,000 29,766 9,234
OoXgogAasd 12,000, 000,000 *0.25% 30,000
= 24,000
& 6,000
oXgolgt&l 9,000
403 A XIHHSK=201H 250,000 800,000 A 550,000
01 AXEHMA2E X 250,000 800,000 A550,000
OXL &N X2 (XEH) 250,000
EZSEMNY 1,257,500 0 1,257,500
& 1,050,000
& 207,500
403 XXM SA=01d 1,257,500 0 1,257,500
& 1,050,000
= 207,500
01 AXESHMA2E X 1,257,500 0 1,257,500
OHESEMNE 1,500,000,000& *82.5% 1,237,500
= 1,050,000
= 187,500
oogel FiHA A= 20,000
SES2LX3 1,000,000 1,200,000 A200,000
403 A XHHSK=01S 1,000,000 1,200,000 A200,000
01 AXESMIA2E = 1,000,000 1,200,000 A200,000
onsg B8 1,000,000
EME0l=x=4 386,500 380,500 6,000
= 24,000
& 250,000
& 112,500
403 X SHMSA201H 386,500 380,500 6,000
= 24,000
= 250,000
< 112,500
01 TXISHMAZE = 386,500 380,500 6,000
OHEMEOISAREHEX A
48,000, 000& *50% 24,000
= 24,000
OEMENISZEASE XA
500,000,000& *72.5% 362,500
= 250,000
= 112,500
HE2AHH (=40 95,950 95,950 0
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